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import matplotlib.pyplot as plt
import numpy as np

import pandas as pd

# LUEIDDTATZ YN [3FEDMIS

pd. read_csv ("D:2022_ #3845t /StatData/StatData02 1. csv”). head ()

&5 BR #=

0 1 46.0 2700
2 495 3220
3 50.0 3360
4 50.0 3500

E N 7 B

5 49.0 3120

#cosv Z727A4ILDHFEFER-5ZT, Bt > TEREL THEARAA

Data=pd. read_csv (
“D:2022_#%43B#x st /StatData/StatData02_1. csv”
skiprows=1, # 1fTE #RIET
names=['No', 'Height', 'Weight'] # HhSLZIXEET
)

del Data['No'] # No H S5 LFRELDTHIE

Data. head ()

Height Weight

0 46.0 2700
1 49.5 3220
2 50.0 3360
3 50.0 3500
4 49.0 3120
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In [4]:

In [5]:

Out[5]:

In [6]:

i AR

plt. figure(figsize=(5,5)) t ROKES (6,4 NTI4ILE

plt. scatter Data[ Height' ], Data[ Weight' 1,c="blue") it B

plt. xlabel ("Height") # xEhCZE S F AR

plt.ylabel ('Weight') 4 yERIC T2 AR

tEGBID7AILERE (BKXELT, png jpeg eps i L)

plt. savefig (' StatData02_1_HW-SP. jpeg’) # EBRI7AIL(ong) RTE (EET+ LA

plt. savefig (' D:2022 #IR4fst=/PNG/StatData02 1 HW-SP.png') # BE{E T 74 JL (png) &7FE (/SRIETE)
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Data[ H"2' ]=Data[ Height' ]J*%2

Data['W'2' ]1=Datal[ Weight' ]*%2

Data[' HW' ]=Data[ Height' ]*Data[ Weight']
Data. head ()

Height Weight HA2 wA2 HW

0 46.0 2700 2116.00 7290000 124200.0
1 49.5 3220 2450.25 10368400 159390.0
2 50.0 3360 2500.00 11289600 168000.0
3 50.0 3500 2500.00 12250000 175000.0
4 49.0 3120 2401.00 9734400 152880.0

t FHEDEE

H_mean=np. mean (Data[' Height']) # Z & Height MOFEH(E
W_mean=np. mean (Data[' Weight']) # Z& Weight OFEHIE
HH_mean=np. mean (Data[ H"2' 1) t &8 H2 OFHIE
WW_mean=np. mean (Data[’ W2’ 1) tZEE W2 OFEHE
HW_mean=np. mean (Data[' HW' 1) # T2 HW OFEHE
print (H_mean, W_mean, HH_mean, WW_mean, HW_mean)

49. 416666666666664 3172. 8333333333335 2444. 1916666666666 10200905. 0 157215. 08333333334



In [7]: # 538k - HOHDEHE

H_var=HH_mean-H_mean**2 #t 5 Height 098X
W_var=WW_mean-W_means2 t 8 Weight MHER
HW_cov=HW_mean—-H_mean*W_mean # Z2 Height & Weight M4 EX

print (H_var, W_var, HN_cov)

2.1847222222222626 134033. 63888888806 424.23611111112405

In [8]: # {Z#(RE - HEARKODIHE
H_std=np. sqrt (H_var) #
W_std=np. sqrt (W_var) #
HW_corr=HW_cov/ (H_std*W_std) #
print (H_std, W_std, HW_corr)

Height MIZERE
Weight MIB#E(FE
& Height & Weight MEREHREk

1.478080587188081 366. 1060486920259 0. 7839757255555182

In [9]: # D& EEZHa<T U REFE->TH KL
np. var (Data[ Height']) # Python DFEFEIHTDEDAIZEL K HLDTIEE

Out[9]: 2.184722222222224

In [10]: # E#REEEE52 507V FEFE-TH LN
np. std(Data[' Height' 1) # Python MOFUEFHEIIHTDEDAIFELL BLDTIEE

Out[10]: 1.478080587188068

In [11]: # XpoEzE5EZ25a7 2 FEFE-THLW
Data[ Height']. cov(Data[ Weight'], ddof=0) # ddof=0 [ZHZE
# BT B & ddof=1 LY., FRERABHIET 5H D FEH

Out[11]: 424.2361111111112

In [12]: # HEGHZEEZAS ATV RFEF-THLL
Data[ Height' 1. corr (Data[ Weight'])

Out[12]: 0.7839757255554989

In [13]: # EXHEHEDFELH
print(
[ E£#{E", H_mean, W_mean],
[ 980, H_var, W_var],
[ ZE#{FE", H_std, W_std],
[ #4580, HW_cov],
[ }8R81%%% , HW_corr],
4 X", len(Data[ Weight'1)]
)

[ FH{E", 49.416666666666664, 3172.8333333333335] [ 7&L’, 2. 1847222222222626, 134033. 638888888
06] [ #Z2&{R=", 1.478080587188081, 366.1060486920259] [' 48k, 424.23611111112405] [ +EBE{R
#', 0.7839757255555182] [+ X", 60]



In [14]:

#ERICRIVMIKRTIEZEET LI L
StatSummary=pd. DataFrame ([

[ FEi94E, np. round (H_mean, 2), np. round (W_mean, 2) ]

[' 488, np.round(H_var,2), np.round (W_var,2)]

[ ZE#{FZE", np.round (H_std, 2), np.round(W_std, 2)]

[ &£58C, np.round (HW_cov, 2)]

[' tHE81%%L, np. round (HW_corr, 2)]

44X, len(Datal' Weight'1)]1 1)
StatSummary=StatSummary. rename (columns={0:" #i&tE"})
StatSummary=StatSummary. rename (columns={1:"Height'})
StatSummary=StatSummary. rename (columns={2:" Weight'})
StatSummary

Out[14]:
#HEtE Height Weight
0 F94E 49.42 3172.83
1 TER 2.18 134033.64
2 EHERE 1.48 366.11
3 HNEL 424.24 NaN
4 FHBMREL 0.78 NaN
5 H+4X  60.00 NaN
E: — —
R NI —Y DRI
In [15]: # #BEL L THARZRE<
NH= (Data[ Height' ]-H_mean) /H_std # Z& Height M#Z#{t% NH & L71=
NW=(Data[ Weight' ]-W_mean) /W_std # Z& Weight MiZ#{L%E NW & L7=
In [16]: # DataFrame [ZiEBEZ
Data[’ H_normalized ]=NH
Data['W_normalized ]=NW
Data. head ()
Out[16]:
Height Weight HA2 WA2 HW H_normalized W_normalized
0 46.0 2700 2116.00 7290000 124200.0 -2.311556 -1.291520
1 49.5 3220 2450.25 10368400 159390.0 0.056379 0.128833
2 50.0 3360 2500.00 11289600 168000.0 0.394656 0.511236
3 50.0 3500 2500.00 12250000 175000.0 0.394656 0.893639
4 49.0 3120 2401.00 9734400 152880.0 -0.281897 -0.144312



In [17]:

Out[171:

In[]:

#ZEEIN-ERICH L TEHARZEZEL<

plt. figure(figsize=(5,5)) # ROXK=x (6,4 BNTI7+ILE
plt. scatter (Data[ H_normalized ],Datal’ W normalized ], c="red" )
plt. xlabel ( Normalized Height')

plt.ylabel ( Normalized Weight')

plt.hlines(0,-3,3) #ER y=0 & -3x<8 TH=R
plt.vlines(0,-3,3) it Eff x=0 & -3<y<8 TRIF

<matplotlib.collections.LineCollection at 0x27e887a2070>
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